Name Date
Prove Statements about Segments and Angles Practice Sheet

In Exercises 1-4, complete the proof.
1. GIVEN:HI=9,[J=9,1J=JH H 9 !
PROVE: HI = JH

Statements Reasons
1.HI=9 1._7 Giver A
2.1J=9 2._7 Giwn ¥
3.HI=1J 3. 7 Substidutun P E
4. 71 HC £ FY 4. Definition of congruent segments
5.J=JH 5.2 Gwen
6. Hl = JH 6. 2 Teransidnue AC
2. GIVEN: £3 and £2 are complementary.
mZl + ms2 = 90° )
PROVE: £1= /3 3
- 1 P
Statements Reasons
1. £3 and £2 are complementary. 1._? gi ven

2 d»('(WFM‘J’W(’

4mll+mL2=ml3 +mL2 2 Aramsidin RE
s ubrrchiom AE
S.mZl =mZ3

6.21=/3 6: ? M{W%

2.mZl +ms2 =90°
J.ms3 +m2L2 =90°

? 9.'\Mm

o L b

?

3. GIVEN:AL = SK A, L s, K
PROVE: AS = LK )
Statements Reasons
1. AL = SK 1. 7 Guen
2.1S=LS 2 g Rupuxue Fob
3.AL + LS = SK + LS 5.9 Addihos AT
4. AL + LS = A4S 4. 7 §a-7ww7”4'/“
5.8K+ LS =LK 5LWA°"J
6. 45 = LK 6. 7 Subst et PE




In Exercises 1 and 2, complete the proof.

1. GIVEN: £Z4ABC = ZCBD, mZCBD = 5(0°,

mZ CBE = 100°
PROVE: L ABC = ZDBE

Statements

Reasons

1. ZABC = £ CBD, mZ£CBD = 50°,
mZ CBE = 100°

2.7
3.50° + m£DBE = 100°

—mscBE 2B meREE

4. m£ DBE = 50°

5.m/CBD— 2 meOBE

6. 7 4650’54086

1. £ZABC = L DBE

1. 7 G

2. Angle Addition Postulate
3 9 Sub¥h Vatiun B E

Subh-ach . AE

4
5. Substitution Property of Equality

6. Definition of congruent angles

1.9 Trams/Awe AE

. The lengths of the sides of quadrilateral 4BCD B c
are equal. Prove that the perimeter of ABCD is
equal to 44B.
GIVEN: 4B = BC,BC = CD,CD = 4D
PROVE: Perimeter of ABCD = 44B A o
Statements Reasons
1.4B =BC,BC=CD,CD = 4D 1._2 Gevan
2.4B = BC,BC = CD,CD = AD 2._2 0o an;MfW
3.AB = CD, AB = AD, BC = AD 3.9 Transile AE
4. Perimeter of ABCD = AB+ BC+ CD + AD | 4. 7 04 47 f*f [T
5.7 P ABC DB B ACS ABHAR 5. Substitution Property of Equality

6._1_PyBcD)= A3

6. Simplify.

Use the property to complete the statement. 25752 7
3. Transitive Property of Congruence: If /1= Z5and_? ,then Z1= /T ‘
~
4. Symmetric Property of Congruence: If /1= /22 and 23 = Z4, then_7 < 22 ‘,;

, u¥3



In Exercises 1-3, complete the proof.

1. GIVEN:mZA=msB mZLB=msC B
PROVE: £4=/C
A c
Statements Reasons
l.msiA=mLB, msZB=mZC 1. Given
2.mlA=msC 2. 2 Transrdre Pof

3. 2 2A%2 2C

3. Definition of congruent angles

2. GIVEN: DE = EF,EF = DF E
PROVE: DF = DE
D { F
Statements Reasons
1. DE = EF, EF = DF 1._? Giwen
2._?7 DE=0OF 2. Transitive Property of Equality
3.DF = DE 3.2 Symmehan P. E

—

4. 2 DF = ne

3. GIVEN: Z1 and £2 are a linear pair.
PROVE: mZ1 = 180° — mZ2

Statements

4. Definition of congruent segments

—

Reasons

1. 2 2l amd 22 are »LVM...‘.\W
2.7 4l and 2L ane Supplemantiny

3.ms1 +ms2 = 180°
4. 7 ez Q—meo~

1. Given

2. The angles in a linear pair are
supplementary angles.

3.2 0. g Supp Sy

4. Subtraction Property of Equality



Use the property to complete the statement.
4. Reflexive Property of Congruence: _? = /4 4

_ — E— -_
5. Symmetric Property of Congruence: If _? = _7?  thenCD =DX. ox 2 chD
In Exercises 6-9, name the property illustrated by the statement.
6. IfZ/l=/2and£2=/4,thenZ1=/4 7. XY=XY
Transine Pa C Pefle p~a Po C_ __
8. If£CDE = ZRST, then ZRST = £ CDE. 9. If 4B = BC, then BC = 4B.
S)«mmu(rrc. hC : C

10. Sketch a diagram that represents the following infor

ZABC and £ CBD are adjacent angles.
ZABD and £ DBE are a linear pair.

11. Use the given information and the diagram to prove the statement.

GIVEN: 2m2 ABC = mZABD ‘

PROVE: £ ABC = ZCBD D A
B

Statements Reasons

0 AmcABe=m¢ABD O Given

a)szB('.,h,CBA:MA/IBD QF)AWM Pt

3) AmeABC: meABCHme €8> STTramsten RE

4\ m<ABC = me CAN W) Sulo —he ~ PsE

53 < ARc . CRD '5)0"’{‘15“‘1‘*0\*“

12. Bicycle Tour You take part in a three day bicycle tour. On the first day, you ride
95 miles. On the third (final) day, you also ride 95 miles. Use the following steps to
prove that the distance you ride in the first two days is equal to the distance that you
ride in the last two days.

a. Draw a diagram for the situation by using a line segment to represent the total
distance of the three days and dividing the line segment into three parts that
Rest 515

represent the daily distances. P
b. State what is given and what is to be proved. C} l) AB=95,CD-fr () Gaer

c. Write a two-column proof. 2) ARt Be-AC Q)7 ly};’:f Lin

‘A.\ A 95 8 « 9% 9D 3) gcg_:;ii jf; 8) Sub shhuh o F

@Clrvm‘.ﬁé’:qsl c0:=a% /3c_+?f:8?'t‘(\%w'/"£ ré
Prwe o AC=BD L) ACzATHR 5 amsids

_5'> ﬁCJBD



